As rendered by TeX

As rendered by your browser

2 92

rey~ X2y2
2 F3 F32
J“+y2 k41
+ +
k1 o
.1‘—*—,{/‘-‘il x+y2k+1
a
m ab/2
1
(ll)‘+‘ 1
ai + -
1 a0+1al1+1a2+1a3+1a4
(12+
1
az+ —
a4
1
ag + 1 a0+1al+1a2+1a3+1a4

(nk/2)

(p2)x2yp-2-11-x11-x2




10 0<iz=m Y0<ismO<j<nP(i,j)
l):‘.',_j::.'n
11 2y X2y
p q r
12 ZZZ”"-'I)-""(‘“ Yi=1pYj=1qXYk=1raijbjkcki
i=1 j=1 k=1
13 ,»"l / 1+1+1+1+1+1+1+x
144|114+ 1+\;1+\,v'1+\,/1+\/1+.1-
2 PN, e
14 T+W ez +iy)|” =0 (020x2+823y2)|@(x+iy)]|2=0
15 222; 222X
* dt
16 [1xdtt
.t
17 / / dx dy I D dx dy
D
18 f(x)={1/3if 0sx<1;2/3if 3<x<4;0 elsewhere.




| 1/3 if0<z<1;
flz)=42/3 if3<a<4;
0 elsewhere.
k times
19 TT"? X+ ..+ x" ktimes
20 Y2 y X2
21 Z _/(1)):/{‘_1./“)(17?(’) Sp primef(p)=/t>1f(t)dm(t)
p prime
ka's [ b's
22 {a a,b, ..., b} {(a,..,a”k a's,(b,..,b7€ b's_k+¢€ elements}
k+1 ("r(:llt"llt,s
a b e [
¢ d g h
23 . ((abcd)(efgh)O(ijkl))
t ]
0 ‘
Co €1 C2 SR e
(&3] Co C3 N S |
o det | €2 €3 C4 cee Cnt2 | s () det|cOclc2..cncl1c2c3..cn+1c2c3c4..cn+2:
' :cncn+lcn+2..c2n|>0
Cn Cn+1 Cn+4+2 ... C2n
25 Yxo Yy X2




26 '1.35413 + 7 x 92 31415+ m
i

o7 'u, xybazcd

28 Y3’ ys”




